1. ATy = f(x) oA f(x) = -2 +2x+5 2w, £(2) 9 g
Fotolet,

D
=%









4. y=a? A, x=3 4w, y=-18°lt}. ouf, a ] gk F5toiek.

D R
3%



O y=-3x2

@ y=-2x2

9]



ol

ol

o]
ol
K
Hr
o
ol
ol

o \tt.

1
® y=—§x2 ﬂ%y

@ y=2x* Bt}

=ofl et thA ol



7. OJAFRy=ax o 2RI A (2, -8) & AL W, 0 O] 2 73}
olg},

D
=%



8. oty = o i AT T FA 2 A2

@ J#zZe S Adal ofz &

i
roh
Hel
it
R
)
o

@ x 7} ol® ghe Zejets y of e o E 0 ofck,
® x %o] tjste] thHelct.
@ x>0 0, x 3ol 75, y g Zbateh,

® x<0 <L, x gtol S7FsHd, y gk At

=

ret



(L) o] Hoz Agst 227
7 eb
=
()
@ y = —2ax? @ y=-ax? ® y = 2ax?
1 1
@ y= _§QX2 ®y= §QX2



10.

OGS y = ax? O] DT T TS Y F 27
()

TE2A? (Fa<0)(HE 270
® xZFof tiste] i oltt
@ T[4 Lefo] ot 2 B},

@ yol gkl A7ty < 0ol

@ a9 o] 258 T mY o] Fopith,




